GROUP I MAIN - 2023
TRIGONOMETRY AND GEOMETRY ASSIGNMENT

PART -1

1. Find the radius of the incircle of a regular hexagon of side 6 cm
6 0515 uSd SleNe] OCHTMIL @UOEEG DIBIHGCHTEISHH60 DIENLOHIHIGTENT
® 6O L SHHOT SLTID HT6wIH.

2. Find the six trigonometric ratios of the angle eusing the given
diagram
CaTheaslUl(BeTen  LULGHHL oemaull OCuImISHH 6 (WPpHCasmemialuled
AP HHIBEN6NE  HT6HIb.

41

P 40 &

3. A kite is flying at a height of 75 m above the ground. The string

attached to the kite is temporarily tied to a point on the ground. The
inclination of the string with the ground is 60° Find the length of the
string, assuming that there is no slack in the string.
SJulelmbeH @ uUlLD 75 15 2 wIHHed UBSSHBSEH. @ BHIT6L
BEJEIC] HBHTIHLOTHG SHenyuilein 0 LjeiTerNufev UL LD
SU LU BTNl B0  SOJULaT gBudsHsid  smuieys Gsmeond 60
616016V, HITeV 60T H6TLD BITEMT . (BITem6V Q(H GriyHGam_nas
1(hHHIHOBHTEITETRLD)
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Find the value
sin? 2 + CoSec? 7—nCos2 T
6 6 3
2 T

DG  HT6wISH Sin2%+CoSecz%Cos 3

Find the value of x
X -601 LD HT6mIsh

PART -2

Find the length of the chord of a circle of radius 6 cm subtending an
angle of 165°at the centre

6 G185 oyupeiien el LsHer  mwbwsHH® 1657 Garam  oienameud
SHTRIGD BTN [HETHMHH HITCISH.

A ramp for unloading a moving track has an angle of elevation of
30°. If the top of the ramp is 0.9m above the ground level, then find
the length of the ramp

@ G oayduledmbal (truck) semwomw @més gseurs 307 gnms
CameamiddHled e@h STUIES S (ramp) 2 6engl. FTuledh SHeNsder,
o 58 sogulelphad 0.9 1 o wgsHHed 2o 6ilengl  eeley, FTUIRS
H6NHH60 [HEMD SHT6EWIS.

Two ships are sailing in the sea on either sides of a light house. The
angle of elevation of the top of the light house as observed from the
ships are 30 and 45" respectively. If the light house is 200 m high.
Find the distance between the two ships. (v3-1.732)

B  HLULH6T HORIBM] NEHHHET BH LUSBIHISMID  HL 6060
Lwend OFUISaimer. &  HLULHMeV(HHH HEOMIBHM]  6lleddH ) 6ol
o sAuler gmmisCamaumiser (pemnGw 307 WHBEMID 45 SGWD. HEVBIGBE]
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alendsdHHer o wgd 200 15 eIelen, G&(H HlUOBHEHHG enl Gul
OsTememald &mamis (v3=1732)

9. If cos x =%3, lies in the third quadrant, find the values of other five

trigonometric functions.
COSs X =%3,xg3,66@1 CLPIIMTLD HMTMBUGHUT60 2 _6iTeNGHl 6160160, BB MHSI

(W&CHTemIaNUID IS SHHIBNETUID HT6EmISH.

10. Find the value of x
X — 61 O] SHT6uIb.

sl

PART -3

11. Find the angle made by a ladder of length 4 m with the ground if its
one end is 2 m away from the wall and the other end is on the wall.
4 5 men(eiten el Foumplel OIUTEHSHHHHH 2 5  CFHTenevaisd
FTUIhHS  MeUSSLILL (HeiTenidl  6lelen,  gemll oLl  gBUBSHHID
CaTeniHmBHdH HTCWISH.

12.  From the top of a tower of height 60 m, the angles of depression of
the top and the bottom of a building are found to be 30° and
60°respectively. Find the height of the building
60 5 o wyapeten @ CamUTSHSHeO(HhA @ S LHHeT o F 1ommIbd
ol oFPweptlar @néss  Casreumiss (pemGu  30°  wHmd  60°
o160NeD, SLULL SHIHT 2 UITHDHDH SHT6wIH.

13. The horizontal distance between two buildings is 140 m. The angle
of depression of the top of the first building when seen from the top
of the second building is 30°. If the height of the first building is 60
m, find the height of the second building. (v3=1.732)
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14.

15.

@renwih SLULLBISEHEG Sl CuiujeTen HewL ol L& CFHTensve] 140 15
ArewiLmougdl &SLLLGHHe o FHAuledmba (PpHeO &LLSHHAT o FHHG
o _giten  @mossGarad 307 ouG. WS &SULLGSHE o _wgb 60 1S
aafled Qv Tais HULLSHS 2 LTSmSS STams (V3=1732)

From a point on a bridge across a river, the angles of depression of
the banks on opposite sides of the river are 30° and 45° respectively.
If the bridge is at a height of 3 m from the banks, find the width of
the river.

@ GubureowTeaidl SuBBIhG L Bu s Lliul (BeTengl. Gibumevddesr

Cuwelmba pbfiar @am sayser (wompser 300 wBpd 45 Onésd
CaremidhdHev BHEHMEHI. Ged Sengulled(Bbd UTeLSHHeT o wgld 3 15
oTeuN60 SLMBMIEIT DIHEVLD SHT6HIH.

The angles of a triangle are 2(x—7),g(x—1) and 3(x+11). Find x and then
show that the triangle is isosceles.
(p&HCaTemsFlar  cpeaim  Camemimiser  (penmGw 2(x—7),§(x—1) LOBMILD

3(x+11) eelled X 6T G HTewis. Guoed BFH @ BH FOUSD
(pS&BHTEWID 6160 [H 1316
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